
049
7/87

SUBJECT: Stainless Steel Hardware -  3PFR7, 5PFR7 and 15PFR7

Certain stainless steel parts will become a standard feature on all corrosion resistant pump models.
These stainless steel items provide added protection and reduced maintenance where corrosion is a
concern.

Models 237, 247, 277 317, 347, 357 1057 651, 1051

Old Part No. New Part No. Old Part No. New Part No. Old Part No. New Part No. Old Part No. New Part No.
Effective S/N: Effective S/N: Effective S/N: Effective S/N:

Description 2870101 4870101 6870101 690101

Inlet Plug 43448 44563 22179 44563 44562 44562 44382 44382

Screw (M6x 20) 92520 92542 92520 92542 92520 92542 92520 92542

Screw (M6x16) 89618 89618 89618 89618

92519 19933 92519 19933 92519 19933 92519 19933

15849 15849 15849 15849

Socket Head Bolt (M10x35) 87931 87950 87931 87950 — — — —

Split Lock Washer (M10) 12503 15847 12503 15847 12503 15847 12503 15847

Socket Head Bolt (M10x55) 87933 87952 — — — — — —

Stud Bolt (M10 x45) — — — — 14050 44005 14050 44005

Hex Nut (M10) — — — — 81048 81258 81048 81258

Plunger Retainer 44031 44031 44305 44031 44305 44031 44031 44031

Gasket, Plunger Retainer 44041 44041 30866 44041 30866 44041 44041 44041

CAT PUMPS
Technical Services Department Rev. 06/04

TECH BULLETIN
Published regarding engineering changes and improvements

1681-94th Lane N.E., Mpls, MN 55449-4324 Ph: 763 ● 780● 5440 FAX: 763● 780● 2958 e-mail: techsupport@catpumps.com, sales@catpumps.com


